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STATISTICS REVIEW

1. The final grades for the students in Mr. Milne’s music class are listed below.
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a) Complete the frequency distribution table.

Interval Tally Frequency
[20,29] \ 1
[30,39] i\ 2
[40,49] 1 L
[50,59] I 3
[60,69] 1] y
[70,79] - 5
[80,89] i A= ) X
[90,100] i+ | b

b) Create a histogram to display the data.
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c) Join the middle of each bar to create a distribution curve. Describe the distribution.
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3.

5.

Tourism Canada conducted a survey of Canadians travelling from Vancouver.
Tourism Canada surveyed a sample of travellers from various age groups.
Each traveller was asked the following question:

“J8 Vancouver as Geautiful as everyone says?”

b) What is the population of this survey?

Canadr‘ans ‘f‘rave“.‘/(j '/’fom \/anoo-iwr

c) Determine a flaw in this survey and suggest a way to fix this flaw.
The ey thet +he quadion wadd influene Qq re spahs

“How do You daseri be ancodue/?'

hoAnep QUisTion

Describe a situation in which the data would produce a bimodal distribution.
The interwls width +he highest fmﬁqmm are ot both ends of th 3/qio‘1,
ond the intewl wWHh The |gwest -fn:quenc& s in The certre.

Lﬂﬂﬂnuﬂ ﬂ”ﬂ S

Identify the bias in each survey.

a) a survey where people are asked to mail their responses to the surveyor

non -respons< bigs

b) a survey where people are asked to choose from a list of suggested options

le.er'na ﬁ?l)(!\‘l'or]

¢) a survey with the question: "The student council is doing a terrible job this year. Should they all

~

6.

resign2"

loaded quab'h'aa :

Find the mean, the median, the mode, and the range for each set of data.

a) 58 75, A, 37, 8, 87, 8¢, 62, 4§, %2, 83, %]
Mean (5—7_1_?.)—,+ Ul 4857 +81+8F + 6y +624U5 1421 83+71) -:—I2=@

Median: OF, 4l, U2, U5, 55,6264, 71,79 8|, &2, 8T

(6246402 =(63]

Mode:  A/O MODE

Range: 87' - 37‘ = 73_0
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b) W, N R Mg 22X, 'R, 25,26, NLR N

5 | )13 = |
Mean: (11§ 14+ 9 +15 +12+?+IQ+2r+26‘+16+i+Q+) % _ (5

Median: ?f q,q, ”)l,) H@IJL( ,l;‘/ 21}?_9-;.2';‘! 26
Median = 1Y

Mode

Onve mopes -
Range

ot =L

7. Sketch a graph of each type of distribution.
a) skewed b) normal <) bimodal
N FAS ~
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8. Identify the population and the sample for each survey.
a) A survey is sent to 2000 random households in Canada asking their opinions about natural gas
prices.

000 ra o househo ld_)

Population:

Sample: T hose LW ho \(“’-Sfoﬂcl.od 4o Hle Ju{db

b) Drivers are asked to comment on the current cost of their vehicle insurance at a local gas station on
Friday.

Population: ’Dr;uyj Ww\re looud""*' 805 o+ o lowol stotion

Sample: Those  Who  copmmmented

c) Baseball fans are asked to vote for their picks for the upcoming all-star game by filling out a ballot
at a Saturday afternoon game.

Population:%asc\oﬁ“ 'Fon-\ who came Ho wotch Q6M o Ba'b-

Sample: Troie voted
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9. Find the mean, the variance, and the standard deviation for each set of data.
a) 91,47,58,55,74,83,64,61,55,64,67,73

(A1+4F+58+55 + 74+ 93 +64 +61+ 55+ py+ 6T +FB) 1L =60

mean =
X =6k
X X - mean (x-mean)?
91 gl -b6 = 25 (25)°= 625
47 4?-66 =-19 C9)?*- 26 |
58 5¢-66=-8 (- "= 6y
55 55-6k~ "I ¢ (2]
74 F4-66= g (D™= by
83 ¥3-66 =11 (17)" =239
64 6y-bb=-2 (-2)*= 4
61 6l-66="5 (-5)-= 25
55 55-66< -1l (-0 =12}
64 6U-66=-2 (-2 Yy
67 6% 6b= | (e, |
73 73-66= f (1= 44
Total 1723
Variance = 'LI'{
= = |2

Standard Deviation = G= \( 1F273
2

b) 58,11,9,4,7,12,8,7,16, 2, 8.
s (S €U ALY+ F QT 416124€) |27V

(.
Standard Deviation = - ?.l o= 152.92 - ’ 23y = 354
2

X X - mean (x-mean)?
5 5-8.1 = -3.] 160
s g-£.1=--0]| 2.0}
el 1-81 = 29 2.4
a -81 = 09 0.8
4 4-8.1 = -y.| (6.9
* T80 = -] 1.2)
12 12-8,1 = 3.9 5.2
? ?"gl, - —D.l 0_01
F 7-2.1= -\ | "L]
lo l-81= %9 62.4)
78 2-90 ~ -6 3t.2)
't 9-8| = -0l 09
Total 15992




